

On Certain Properties of sub E -functions

Nashat Faried¹, Mohamed S. S. Ali² and Zeinab M. Yehia^{2,*}

¹Department of Mathematics, Faculty of Science,
Ain Shams University, Cairo, Egypt.

²Department of Mathematics, Faculty of Education,
Ain Shams University, Cairo, Egypt.

ABSTRACT: The aim of this work is to study the standard functional operations of sub E-functions. Furthermore, we introduce a class BE[a, b] of functions representable as a difference of two sub E-functions.

Keywords: Convex functions; Generalized convex functions; supporting functions.

AMS 2010 Subject Classification: 26A51; 26B25; 52A01.

1 Introduction

Suppose that $f : I \rightarrow \mathbb{R}$ is a convex function on the interval I of real numbers and $a, b \in I$ along with $a < b$. There are a lot of generalizations of the concept of convex functions see [1, 3, 4, 5]. One way to generalize the concept of convex functions is to replace linear functions by another family of functions in the sense of Beckenbach [2]. In 2016, Mohamed S. S. Ali [1] introduced sub E -functions by dealing with a family $\{E(x)\}$ of exponential functions

$$E(x) = A \exp Bx,$$

where A, B are arbitrary constants. More precisely, [1, 6] a positive function $f : I \rightarrow (0, \infty)$ is said to be a sub E -function on I , if for all $x \in [a, b] \subset I$,

$$f(x) \leq E(x)$$

where A and B are chosen such that $E(a) = f(a)$, and $E(b) = f(b)$. In this paper, we deal with this family $\{E(x)\}$ of exponential functions which is called sub E-functions.

2 Definitions and Preliminary Results

This section is devoted to introduce the main definitions and results about sub E -functions see [1, 6, 7], which will be used in the following.

*E-mail: zeinabyehia@edu.asu.edu.eg

Definition 2.1. A positive function $f : I \rightarrow (0, \infty)$ is said to be a sub E -function on I , if for all $a, b \in I$ with $a < b$, the graph of $f(x)$ for $a \leq x \leq b$, lies on or under the graph of a function

$$E(x) = Ae^{Bx},$$

where A and B are taken so that $E(a) = f(a)$, and $E(b) = f(b)$.

Equivalently, for all $x \in [a, b]$

$$\begin{aligned} f(x) &\leq E(x) \\ &= \exp\left[\frac{(b-x)\ln f(a) + (x-a)\ln f(b)}{b-a}\right]. \end{aligned} \quad (2.1)$$

There is more than one form for the function $E(x)$ other than that stated in (2.1); for example,

$$E(x) = f(a)e^{B(x-a)}; \quad B = \frac{\ln f(b) - \ln f(a)}{b-a}$$

or in a multiplicative formula

$$E(x) = [f(a)]^{\frac{b-x}{b-a}} \cdot [f(b)]^{\frac{x-a}{b-a}}.$$

Remark 2.1. The sub E -functions possess a number of properties analogous to those of convex functions. For example: Let $f : I \rightarrow (0, \infty)$ be a sub E -function, then for all $a, b \in I$, the inequality $f(x) \geq E(x)$ holds outside the interval $[a, b]$.

Definition 2.2. Assume that $f : I \rightarrow (0, \infty)$ is a sub E -function, then a function

$$T_u(x) = Ae^{Bx}$$

is called a supporting function for $f(x)$ at the point $u \in (a, b)$ if

1. $T_u(u) = f(u)$
2. $T_u(x) \leq f(x) \quad \forall x \in I$.

That is, if $f(x)$ and $T_u(x)$ agree at $x = u$, then the graph of $f(x)$ lies on or above the support curve.

Definition 2.3. Let $f : I \rightarrow \mathbb{R}$, f is said to satisfy a Lipschitz condition if there exists a constant $K > 0$ such that for every $x, y \in I$ we have

$$|f(x) - f(y)| \leq K|x - y|.$$

Theorem 2.1. A function f that is F ρ -convex satisfies a Lipschitz condition in every compact subinterval J of (a, b) , and thus is absolutely continuous and has a derivative almost everywhere that is bounded in J .

Theorem 2.2. If $f : [a, b] \rightarrow \mathbb{R}$ satisfies a Lipschitz condition on $[a, b]$ with constant K , then $f \in V[a, b]$ and $V_a^b(f) \leq K(b - a)$.

Proposition 2.1. Let $f : I \rightarrow \mathbb{R}$ be a differentiable sub E -function, then the supporting function for $f(x)$ at the point $u \in I$ has the formula

$$T_u(x) = f(u) \exp \left[(x - u) \frac{f'(u)}{f(u)} \right]. \quad (2.2)$$

Proposition 2.2. For a sub E -function $f : I \rightarrow (0, \infty)$, the supporting function at $u \in I$ is written in the following formula

$$T_u(x) = f(u) \exp \left[(x - u) \frac{M_{u,f}}{f(u)} \right].$$

The constant $M_{u,f}$ is equal to $f'(u)$ if f is differentiable at the point $u \in I$; otherwise $f'_-(u) \leq M_{u,f} \leq f'_+(u)$.

Theorem 2.3. If $f : I \rightarrow (0, \infty)$ is a two-times continuously differentiable function. The function f is a sub E -function on I if and only if $f(x)f''(x) - (f'(x))^2 \geq 0$ for all x in I .

Theorem 2.4. Suppose that a function $f : I \rightarrow (0, \infty)$ is a sub E -function on I if and only if there exist a supporting function for $f(x)$ at each point $x \in I$.

3 Main Results

Theorem 3.1. If $f : I \rightarrow (0, \infty)$ and $g : I \rightarrow (0, \infty)$ are sub E -functions and $\alpha \geq 0$ then $f + g$ and αf are sub E -functions on I .

Proof.

Let $h(x) = f(x) + g(x)$, $h(x)h''(x) - (h'(x))^2 \geq 0$, hence

$$\begin{aligned} & [f(x) + g(x)][f''(x) + g''(x)] - [f'(x) + g'(x)]^2 = \\ & = f(x)f''(x) + g(x)g''(x) + g(x)f''(x) + f(x)g''(x) - f'^2(x) - g'^2(x) - 2f'(x)g'(x) \\ & = f(x)f''(x) - f'^2(x) + g(x)g''(x) - g'^2(x) + g(x)f''(x) + f(x)g''(x) - 2f'(x)g'(x) \\ & \geq f(x)f''(x) - f'^2(x) + g(x)g''(x) - g'^2(x) + g(x)\frac{f'^2(x)}{f(x)} + f(x)\frac{g'^2(x)}{g(x)} - 2f'(x)g'(x) \\ & = f(x)f''(x) - f'^2(x) + g(x)g''(x) - g'^2(x) + \frac{g^2(x)f'^2(x) + f^2(x)g'^2(x) - 2f'(x)g'(x)f(x)g(x)}{f(x)g(x)} \\ & = f(x)f''(x) - f'^2(x) + g(x)g''(x) - g'^2(x) + \frac{(g(x)f'(x) - f(x)g'(x))^2}{f(x)g(x)} \\ & \geq 0. \end{aligned}$$

Hence, $f + g$ is a sub E -function.

$$\begin{aligned} f(x) & \leq \exp \left[\frac{(v-x) \ln f(u) + (x-u) \ln f(v)}{v-u} \right] \\ & \leq \exp \left[\frac{v-x}{v-u} \ln f(u) + \frac{x-u}{v-u} \ln f(v) \right] \\ & \leq \exp \left[\ln f(u) \frac{v-x}{v-u} + \ln f(v) \frac{x-u}{v-u} \right] \\ & \leq \exp \left[\ln f(u) \frac{v-x}{v-u} f(v) \frac{x-u}{v-u} \right] \\ & \leq f(u) \frac{v-x}{v-u} f(v) \frac{x-u}{v-u}. \end{aligned}$$

Since $\alpha \geq 0$, then

$$\begin{aligned}
\alpha f(x) &\leq \alpha f(u)^{\frac{v-x}{v-u}} f(v)^{\frac{x-u}{v-u}} \\
&= \alpha^{\frac{v-x}{v-u}} f(u)^{\frac{v-x}{v-u}} \alpha^{\frac{x-u}{v-u}} f(v)^{\frac{x-u}{v-u}} \\
&= (\alpha f(u))^{\frac{v-x}{v-u}} (\alpha f(v))^{\frac{x-u}{v-u}} \\
&= \exp[\ln(\alpha f(u))^{\frac{v-x}{v-u}} (\alpha f(v))^{\frac{x-u}{v-u}}] \\
&= \exp[\ln(\alpha f(u))^{\frac{v-x}{v-u}} + \ln(\alpha f(v))^{\frac{x-u}{v-u}}] \\
&= \exp\left[\frac{v-x}{v-u} \ln(\alpha f(u)) + \frac{x-u}{v-u} \ln(\alpha f(v))\right] \\
&= \exp\left[\frac{(v-x) \ln(\alpha f(u)) + (x-u) \ln(\alpha f(v))}{(v-u)}\right]
\end{aligned}$$

Hence, $\alpha f(x)$ is a sub E -function.

Theorem 3.2. If $f : I \rightarrow (0, \infty)$ is a sub E -function then f is convex.

Proof.

Since, f is a sub E -function, then

$$f(x) \leq [f(u)]^{\frac{v-x}{v-u}} [f(v)]^{\frac{x-u}{v-u}}, \quad u \leq x \leq v$$

Let $x = \lambda u + (1 - \lambda)v$, $\lambda \in [0, 1]$. Since by arithmetic-geometric mean inequality, we have

$$\begin{aligned}
f(\lambda u + (1 - \lambda)v) &\leq [f(u)]^{\frac{v-\lambda u-(1-\lambda)v}{v-u}} [f(v)]^{\frac{\lambda u+(1-\lambda)v-u}{v-u}} \\
&= [f(u)]^\lambda [f(v)]^{1-\lambda} \\
&\leq \lambda f(u) + (1 - \lambda)f(v).
\end{aligned}$$

Hence, f is convex function.

Theorem 3.3. Assume that $f : I \rightarrow (0, \infty)$ and $g : J \rightarrow (0, \infty)$ where $\text{range}(f) \subseteq J$, Let f and g are both non-negative, sub E -functions, two times continuously differentiable and g is increasing, then the composite function $g \circ f$ is sub E -functions on I .

Proof.

Since, g is increasing, then

$$g'(x) \geq 0 \quad \forall x \in J \tag{3.1}$$

Since, f and g are sub E -functions, then by using Theorem 2.3, we have

$$f(x)f''(x) - (f'(x))^2 \geq 0, \quad \forall x \in I \tag{3.2}$$

$$g(x)g''(x) - (g'(x))^2 \geq 0, \quad \forall x \in J. \tag{3.3}$$

We have,

$$h(x) = g(f(x)), \tag{3.4}$$

$$h'(x) = g'(f(x))f'(x), \tag{3.5}$$

$$h''(x) = g''(f(x))(f'(x))^2 + g'(f(x))f''(x). \tag{3.6}$$

Then,

$$\begin{aligned} h(x)h''(x) - (h'(x))^2 &= g(f(x))g''(f(x))(f'(x))^2 + g(f(x))g'(f(x))f''(x) - [g'(f(x))f'(x)]^2 \\ &= [g(f(x))g''(f(x)) - g'(f(x))^2][f'(x)]^2 + g'(f(x))f''(x)g(f(x)) \end{aligned}$$

Now using (3.1), (3.2), (3.3), we conclude that

$$h(x)h''(x) - (h'(x))^2 \geq 0.$$

Hence, $h(x)$ is a sub E -function.

Definition 3.1. Let $BE[a, b]$ be the class of functions $f : [a, b] \rightarrow (0, \infty)$ representable as difference of two sub E -functions in the form $f = g - h$ where g and h are sub E -functions on $[a, b]$ and $g'_+(a)$, $g'_-(b)$, $h'_+(a)$, $h'_-(b)$ are all finite.

Theorem 3.4. The Class $BE[a, b]$ is closed under addition, subtraction and scalar multiplication.

Proof.

Let $f, g \in BE[a, b]$, $f = f_1 - f_2$, $g = g_1 - g_2$

For addition:

$$f + g = f_1 - f_2 + g_1 - g_2 = (f_1 + g_1) - (f_2 + g_2)$$

Since $f_1 + g_1$, $f_2 + g_2$ are sub E -functions by Theorem 3.1.

Then $f + g \in BE[a, b]$.

For subtraction:

$$f - g = f_1 - f_2 - g_1 + g_2 = (f_1 + g_2) - (f_2 + g_1).$$

Since $f_1 + g_2$, $f_2 + g_1$ are sub E -functions.

Then $f - g \in BE[a, b]$.

For scalar multiplication: Case(1) let $\alpha \geq 0$

$$\alpha f = \alpha f_1 - \alpha f_2.$$

Since αf_1 , αf_2 are sub E -functions by Theorem 3.1.

Then $\alpha f \in BE[a, b]$.

Case(2) let $\alpha < 0$.

$$\alpha f = \alpha f_1 - \alpha f_2 = -\alpha f_2 - (-\alpha) f_1.$$

Since $-\alpha f_2$, $-\alpha f_1$ are sub E -functions.

Then $\alpha f \in BE[a, b]$.

It is clear that all the previous functions have finite endpoint derivatives.

Corollary 3.1. $BE[a, b]$ is a linear space.

Theorem 3.5. If $f \in BE[a, b]$, then f satisfies lipschitz condition and consequently absolutely continuous on $[a, b]$.

Proof.

Let $f \in BE[a, b]$, $f = f_1 - f_2$. Since f_1 and f_2 are sub E -functions.

Then from Theorem 2.1 f_1, f_2 satisfy lipschitz condition.

$$|f_1(x) - f_1(y)| \leq k|x - y| \quad \text{and} \quad |f_2(x) - f_2(y)| \leq m|x - y|.$$

$\forall x, y \in [a, b]$,

$$\begin{aligned} f(x) - f(y) &= f_1(x) - f_2(x) - (f_1(y) - f_2(y)) \\ &= f_1(x) - f_1(y) - (f_2(x) - f_2(y)) \\ |f(x) - f(y)| &= |f_1(x) - f_1(y) - (f_2(x) - f_2(y))| \\ &\leq |f_1(x) - f_1(y)| + |-(f_2(x) - f_2(y))| \\ &\leq |f_1(x) - f_1(y)| + |f_2(x) - f_2(y)| \end{aligned}$$

$$\begin{aligned} |f(x) - f(y)| &\leq k|x - y| + m|x - y| \\ &= (k + m)|x - y| \\ &= h|x - y|, \end{aligned}$$

where, $h = k + m$

$$\text{then } |f(x) - f(y)| \leq h|x - y| \quad \forall x, y \in [a, b]$$

Hence, f satisfies lipschitz condition.

let $\epsilon > 0$, choose $\delta = \frac{\epsilon}{h}$ such that for any collection $\{(x_i, y_i) : i = 1, 2, \dots, n\}$ of disjoint open subinterval of $[a, b]$ with $\sum_{i=1}^n |x_i - y_i| < \delta$

$$\text{then } \sum_{i=1}^n |f(x_i) - f(y_i)| < \sum_{i=1}^n h|x_i - y_i| = h \sum_{i=1}^n |x_i - y_i| < h \frac{\epsilon}{h} = \epsilon$$

Hence, f is absolutely continuous on $[a, b]$.

Corollary 3.2. If $f \in BE[a, b]$ then $V_a^b(f) < \infty$.

Proof.

Let $f \in BE[a, b]$.

Then, from Theorem 2.1 f satisfies lipschitz condition.

Then, from Theorem 2.2 $f \in V[a, b]$.

Hence, $V_a^b(f) < \infty$.

References

- [1] M. S. Ali. On certain properties for two classes of generalized convex functions. *Abstract and Applied Analysis*, 2016.
- [2] E. Beckenbach. Generalized convex functions. *Bulletin of the American Mathematical Society*, 43(6):363–371, 1937.
- [3] E. Beckenbach and R. Bing. On generalized convex functions. *Transactions of the American Mathematical Society*, 58(2):220–230, 1945.
- [4] F. Bonsall. The characterization of generalized convex functions. *The Quarterly Journal of Mathematics*, 1(1):100–111, 1950.

- [5] N. Faried, M. S. Ali, and Z. M. Yehia. On certain properties of hyperbolically convex functions. *Italian Journal of Pure and Applied Mathematics*, 1(42):476484, 2019.
- [6] N. Faried, M. S. Ali, and Z. M. Yehia. Integral inequalities of hadamard type for sub e-functions. *Advances in Mathematics: Scientific Journal*, 9(3):711–723, 2020.
- [7] A. Wayne and D. Varberg. *Convex functions*. Academic Press, New York and London. Elsevier Science and Technology Books, 1973.